
XsHTI{fr ATIMAI
eMHeA3JrrgP CyMhrH 3ACAr AAPTbIH

3AXI{PAM)I(

h!, o,ool up,,,* o]"o", ar*ro4 Ouxegenrep cyu

l-aaap e3oMtuyynox opxr4tZH ropqilnroer
xecsrqneH [uilnxYYn3 x Tyxail

MoHron y.ncbtH 3acar 3axhpraa, Hyrar AoBcropiltiH Horx, ryyHrail y.qilpAnarbtH

ryxail xyynwilr' 66 pyreep eyhnviln 66.1, 66.3 Aaxb 3aanr, l-aapurn tyxafi xyynraraH 30

Ayraap syfrnmfiu 30.1 Aex 3aanr, 38 gyraap eyhnuila 38.4 Rox 3aaflrbtr yHAecnoH

3AXt4PAMXflAX nu:

1. Xon6orgox xyynb, TorrooMxuiu garyy ra3ap e3eM[ut4x epxrailH repqilnroor

lunflxYYnex tyxail Hornox 6apnrurutr 6ypgyynen, epro,qefl rapracaH Cyx-Ovrapurn

MeHx6aarapbrH ra3ap e3eMtuilx epxraIH ropL]ilnreor xaBcpanraA AypAcaHaap xocorqnoH

unnxyyncyrefr.

2. l-aeap o3eMIUt4x opxilrZH ropqilnreor luilflxyyfloH aBcaH upregrerZ ropoo

1afrryynat, 6uenents4 6afrHrsrH xflHanr raBbx axunnaxbrr l-aspuru AaaMan (E.MeHx-

Onsn ra)-g paanracy rah.

3. l-asap e3eMuJl/x repoeH.q rycrar.qcaH 3opilynaflT, HexLlenuhl Aaryy ra3paa

e3eMurt4H, repeeHrarl 6uenentnhr xun 6yp 4yrHyynx 6afrxbtr ra3ap o3oMtiJt4x epxrfrH

repqhnrssr uJrflxyynoH aBcaH XaprancafixaHur Xapranqorr, Cyx-OvupurH

MeHx6aarap Hapr yypor 6onrocyrail.

4. Suexyy 3axrpaMx rapcanrail xon6or4yynan cyMbtH 3acar AaprbtH 3acar

AaprbrH 2021 onu 1 1 gyreep capbrH 30-nur egpnfin A/198 Ayraap 3axilpaMxraran Cyx-

OvnpurH Monx6aarapr xon6orgox xecrrrlr xyvnrryrZg rooqcyrail.
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